


Ref # Part # Description Context Note Foot Note
1 NSP ENCLOSURE, 22" x 16" x 7"
2 NSP BACK PANEL

3 192024GS TRANSFER SWITCH, 200A, with Cover &
Handle

4 PPHMS,#10 - 32 x 1/2" (Purchase
locally)

5 PPHMS,#6 - 32 x 1/4" (Purchase
locally)

6 PPHMS,#6 - 32 x 1/2" (Purchase
locally)

7 PPHMS, #6- 32 x 3/8" (Purchase
locally)

8 193159GS DECAL, Reinstall After
9 195000GS CONTROL,Board
10 196353GS SPACER, Nylon #6 - 32
11 196094GS GROUND LUG

12 WASHER,Lock 1/4" (Purchase
locally)

13 WASHER, Flat,1/4" (Purchase
locally)

14 NUT, 1/4" - 20 (Purchase
locally)

15 192696GS TERMINAL,Neutral
16 B4857GS FUSE
17 192151GS FUSE HOLDER
19 198136GS DECAL, B & S Logo
20 196355GS DECAL, CT Warning
21 B5106GS DECAL, Connection, Utility
22 B5107GS DECAL, Connection, Gnrtr
23 196523GS DECAL, 200A,ATS
24 NSP DECAL, UL Listed,ATS
25 190992GS DECAL, Warning Shock
26 190984GS DECAL, Fuse
27 B4986GS DECAL, Ground
28 192597GS DECAL, Utility 240VAC
29 192166GS DECAL, APPVD CB
30 193307GS DECAL, Load

31 WASHER, Flat,#10 (Purchase
locally)

32 WASHER, Ext.Tooth, #10 (Purchase
locally)

2 of 3 7/15/2015 4:29 PM



Ref # Part # Description Context Note Foot Note
33 192150GS SPACER
34 197198GS DECAL,Wire Circuits
35 197294GS DECAL, Contacts Rating
36 197355GS CLIP, Latching Wire
37 198615GS DECAL, Intelligen Logo

195728GS CURRENT TRANSFORMER Not Illustrated

3 of 3 7/15/2015 4:29 PM


